Efficiency vs dr

7 0.05
<
9.045
30.04
c
(4]
0.035
=
©0.03
0.025
0.02f {4
0.015f
0.01 -}
0.005F--{

1.2 | —=— DQM TT__mkFit-DQM_ orlglnal -0
_| —— DQM_TT__mkFit-DQM_mod-127

—_— DQM TT__mkFit-DQM_mod updatedmod-lZ?

0.8fF- - | m
oo TR m
1078 1072

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001

Ratio
=

1073 1072 107
AR(TP, jet)

Efficiency vs pu

50.02 - 7 - T T T T
U S SRS OO UV DR OO O

i T A S S S
L R SR SU IR St S
) L : ] : : : : :

F S A S S
= = : ] : : : : :

®.012F
0.01
0.008F
0.006F
0.004F
0.002F :
(0]
1.2
1

0.8
0.6

Ratio

O[T T[T T

N




	Contents
	Page 1


